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Note :

() Amnswers must be written either in English or in Marathi.
IH SASHYT Thar TIStaT fafee wiEsa,

(i) All questions are compulisory.
we 95T Hfrard s,

(iti)  Figures to the RIGHT indicate marks of the respective question.
FAAFEICT 37 ToI1aT goi= o goifarard,

(iv)  Credit will be given for orderly, effective and concisely writing.

Ay, Sfira @ YRomgeRe foramma 59 foe g,
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Total Marks : 200
WRHIT T[0T : 200

Duration : 3 Hours

H/IATIET : 3 A

(v)  Number of optional questions upto the prescribed number in the order in which they have been

solved will only be assessed. Excess answers will not be assessed,

ST A IR G T 7o Gl ofed. daeT ¥ auee) Wil SR Jat qurat

ST TET,

(vi) Candidate should not write roll number, any name (including their own), signature, address or any
indication of their identity amywhere inside the answer book otherwise he/she will be penalised.

FRYI&TH=T ST YT HIg ST 9% HHF, foaT i e, 9T AT STt sl

SUR 7% 747 F& 79 ST &) [ 4T ST

(vii) In case of any ambiguity, Englisi version will be considered as authentic.
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SECTION - A {Marks - 40}
fawmm - A (MUT-40)
Answer any one of the following sub-questions : 20
WA SUYYATTen] HIUTeTar Teht 3Uyyrd 3w forer
(a) Explain the nature of conflict between Indo-Pak relations.
(b)  Describe the salient features of India’s Nuclear Policy.
(a) Answer any one of the following sub-questions : 10
Wreilel SUTYATTeh HITTETE TahY IT9r 3w foer ¢
(i)  Discuss in brief the causes of genesis and growth of Naxalite Movement in
India.
(ii) Give a brief account of laws and law enforcement mechanism to curb the
terrorist activities in Maharashtra.
TEIPTATel SEvIaaTe] SHRaiAl 21Teel HIevaraE] ST Siae ol & =
FATHET FIO1 T30 ASard |
(b) Answer any five of the following sub-questions : 10
Wreie HITFATE T SUReiEt s fos
(i)  Explain the impact of disintegration of USSR on world affairs.
ST HWeTE Hifegud graT=a1 fauear=n s g F1. -
(iiy  State the objective of European Union (EU).
FAfaaAT gfaaTer 389 |
(iii) Elicidate the relevance of NAM in changing international relations.
aeETAl SUYE HaUmed TeIMRIGaER! Jeded Sugwmal favg &
{iv) Explain the powers and functions of Security Council of the United Nations.
T T YT UTeE SATHEN & HE o9y H.
(v) State an objective of UNICEF as UN agency.
T8 1 TEH TP TR0 I HL
(vi) Write short note on UN Peace Keeping Forces.
T TP A = g faqor fate.
(vii) Explain the importance of SAARC as regional international institution.

TR ST Y v widhe Et TP &L
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SECTION - B (Marks - 40)
fawrm - B (TUT-40)
Answer any one of the following sub-questions : 20

W teTdsh! WehTel 3T 20 :

(a)

Explain the significance of transport system in India’s economic development
and take a brief review of growth of transport system from 1950-51 to 2000-2001
in regard to railways, (Freight Traffic million Tons and total length in 000 km.)
roads (Total tength in 000 km. and number of goods’ vehicles 000.), Shipping
{million Tons GRT) and civil aviation (number of passengers in lakhs).

ATET =1 DI T8 Hd TS 711 eie forshTaa ) Heey 9. ol aigqs sHaes=
1950-51 9T 2000-2001 T Fesld Ied, T, STEIS 0] WA e =1 drSd
LR

What is the concept and frame work of mixed economy in India ? Discuss fully
the planning process in mixed economy with its distortions in planning process.

g refored= FoqT ST SRSl YA T3 312 2 A uiha fusy iy
= s y=aEe g4l &

Answer any one of the following sub-questions :
Greieris! UeRT STIv S fore

(i)  Globalisation is considered as an important element in reform package.
Explain the four parameters of globalisation and discuss its impact on Indian
cconomy.

ST YiHd & W a T8 HEA SEIeS GhAH AT seferesiat
M s =i A= L

(if)y Compare the pre-independence foreign trade of India with its post
independence foreign trade till the devaluation of rupee in June 1966 and
explain the changes in imports and exports of India’s foreign trade and
balance of payments position.

WIAAYE o T e WRATE TR SR ol & 1966 Hierd T
a8 wdden Freda omE | frlg o, aﬁaﬂmmﬁbalanceof
payments HEd ST 95A AT & T HI,

10
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(b} Answer any five of the following sub-questions : 10

WIATTdh] ohTUTeT(g Qe 393 o1 ¢

(1)

(i)

(i)

(iv)

(vi)

(vii)

Revenue expenditure of central government increases much faster than
revenue receipts.

For example :  Revenue expenditure was Rs. 347 crore in 1950-51.
Revenue expenditure was Rs. 14540 crore in 1980-81.

What are the reasons for increase in expenditure ?
HeFad] T W 8 T ScaerE Yal S S Al S
ESEUIRHE e @d T 347 FIST 1950-51 AA
TS WH %, 14540 FET 1980-81 T
A1 g AR FEO FE S 2
Explain the causes of increase in public expenditure in recent times.
i e THid o1E Fvars! R0 wm,
What are the sources of revenue of central government (All Sources) ?
HOTA] TR TR T FHIR SR QAL
Name the Indirect taxes levied by the Government of India.
HEATE TR STHIE HE BV TIhieed Ao d i,
Explain VAT (Value Added Tax}.

AR X TIF &,

Explain the purpose of deficit financing in India. Is it having dangers ?

e srefotuma IEW OIS TS U FHE AR il A Hi 2 W
.

Is there any difference between revenue deficit and fiscal deficit ? If answer
is yes, what is it ?

3P 2 S0 Feme S A e 38 i 7 S SO eI ST W dl I
R ?



5 PTB
Marks
T
SECTION - C (Marks - 40)
faumr - ¢ (yur-40)
Answer any one of the following sub-questions : 20

eI ihT ShIVTATE Teh II9T G :

()

(b)

State the importance of agriculture in Indian economy and discuss the measures
to be undertaken to improve the agril, productivity,

TR refemaedd iy BT Wewd owie we T SRl aRfvars S ™ F1

State the importance of live-stock production in rural economy with special
reference to Maharashtra; discuss about the present status of live-stock in India
and suggest suitable measures to improve it.

T Sisfereedie WA We v w e W oRferd awe w99
T, T YT GUROR 39 G,

Answer any one of the following sub-questions : (write in short)
GeATeTieh! SHITTAE Tk STHE T ;

()  State the important aspects of plantation crops, discuss in short the
horticultural development in Maharashtra.

WWWWWWE,WWWW
==t F.

(i)  Define the term “Forest”. Give the classification of forest, discuss in short
about forest development in the country.

"1 S e ? T e ®U, SemRsi a9 T 2

P.

10

T.0.
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(b)

Answer any five of the following sub-questions (write in short) :

WTelTeTia ok IOTETel UT=l SU9ei=1 diesamm S foret ¢

(i)

(i)

(v)

(vi)

(vii)

Economic achievements of Green Revolution.
7@ i 27fefs wftom.

Self-sufficiency in food.

YT TE L.

National Food Security Mission.

T srmuT e fae

Energy and nutrient needs of human beings.
it ST STeTE IOl el HTOTEe! SATavasha.
Causes of Food Wastage.

ST ST HRO.

Govt. Policies for improving the community health.
TSI G GURUATHES! T AT f
Causes of diseases in human beings.

e QAT AT,

SECTION - D (Marks - 40)
faurr - D (TUT-40)

7.  Answer any two of the following sub-questions :

T etd! RITTAE H STYY 9igal

(@

Marks

10

Discuss the role of water resources in National Development and add a critical 10
note on interstate dispute on water use.

O FHE S g i T U 9 ol sreEs siaeed de amered
feanTens mfed faan,

OR / f&ar

Define renewable energy. Explain the potential of solar and geothermal energy.

g 3o v =@ | win, gateE e 9 s Swi a Seetden ad
wEe Hifed! feren.

"Wy
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What is Cyber Crime 7 Suggest suitable measures for the prevention of Cyber 10
Crime.

AR T8 RS F 7 HRER T @A o SUEES geal.

OR / f&hat

Define Remote sensing, and explain the applications of Remote sensing in disaster
management and ecological studies.

gL Gaeral =ATe fosr 9 Wgy Ha Ao o uiifserdianty Sy SuErst vy

.

Answer any one of the following sub-questions :

WA CTIh! hIVTATEl Tah STYYH WIS

(i)

(1)

10

Define Water Pollution. Discuss in brief the causes and effects of water

pollution on plants and animals.

TS WU R faRl. Se WguUme SR | S9! 9 WIvAEdier ST

oYEeEr o=l F.

What is Biotechnology ? Describe in brief the scope and importance of
biotechnology in the field of agriculture, environment and animal breeding,.

SO U w1 ? %, At st g fafsrntor an Sewdie SedaamEr

=THT § e YisEd i,

Answer any five of the following sub-questions :

WTelieTieh! ShRIUTaRE el ST9YT SIS ¢

()
(i)
(i)

(iv)

Explain in brief the composition of atmosphere.
AR HYAA ST T FT.

Causes and effects of marine pollution on coastal ecosystem.

YU ggeoTst HRO | e Eien afifierdis et gy gitomm.

Marine Resources

[ CURSESICE |

CRZ regulations

T AR e = Frem

Impact of climate change and sea level
B SEe= IR0 o g Irae!
Cloud formation

T

Weather forecasting

AT SIS

10

P.T.O.
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SECTION - E (Marks - 40)
faqurt - E (TU7-40)
9. Answer any two of the following sub-guestions (10 Marks each) : - 20

Welle STYTAIIehT SRI0TeaTel S wei= 3a¢ forer ;

(@) The number of students getting marks less than 10, 20, 30, 40 and 50 in a paper of 50
marks is 6, 14, 25, 31 and 35 respectively.

(1)  Prepare frequency distribution for the data.
(H) Write the percentage of students getting marks less than 10.

T TS FeAateR TE 10, 20, 30, 40 30 50 &0 Y o1 FHeaven et den
STTHH 6, 14, 25, 31 7101 35 .

(i) &N HfEdrsl SR SRARAl RO G4’ .
(i) =@ ot FH o fesar famneat=l gdnar fora,
OR/ faan
(a} (i) Draw a Histogram for the following frequency distribution :
Daily wages (in Rs.) : {110-119(120-129|130-139|140-149 150-159|160-169
No. of workers : 12 17 21 14 9 7
ETel el afihd IHRdl 9ol |idh AIateas FTel

af1e s (%) ¢ | 110-119 | 120-129 | 130-139 | 140-149 | 150-159 | 160-169

TR T 12 17 21 14 9 7
(i)  Write the class-interval in which mode belongs.
Igoe AU T foral

(b) Compute mean, median and mode of the following frequency distribution :
wreie Teelea SRarRdl 9nvlt = qe, Head o Sgash e

x- | 1] 21 3] 4715
fo 2] 5 w0l 3]

Also write your interpretation.

T fre fera.

OR / fehar



10.

(b)

()
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Find the mean, median and mode of the following observations :
61, 62, 63, 62, 63, 62, 64, 64, 60, 65
GIefiel §&T = 79, HeAw F wgelsh Sl
61, 62, 63, 62, 63, 62, 64, 64, 60, 65
Answer any one of the following sub-questions : 10

TR TRTOTCATE TehT YA Ie) o7
For an organisation following information is given for its one of the products :

Inspect a random sample of size n; =50 from the lot produced in one day.
Let d;=number of observed defectives in this sample of size 50,
If dy=1 then accept the lot and declare the lot of the day as non-defective lot. If
d; > 3 then reject the lot and declare the lot of the day as defective lot. If
1<d; =3 then take one more random sample of size n, =100 from the same day’s
production lot. Tet d,=number of observed defectives in this sample of size 100.
If d; +d, = 3 then accept the lot and declare the lot of the day as non-defective
lot. If d; +d, >3 then reject the lot and declare the lot of the day as defective lot.

(i)  Write the algorithm for the above information.

(i) Draw a flowchart for the above information.
TH FRATAHEST @l Aifedt feeredt om

T FearreT St oA e A e T n, — 50 T T He ST FES[ET
=, dy =T VAR TR UFOT G AN TG SR SAFET R, W, <1 W
N ot femrare ST et v wiadt F0. W d, > 3 are € e femre
SR FaY T FiAqied FA. SN 1<d, = 3 AW R T G e
FERA gl TEd n, =100 a5 a9 FY WEAT FY d, =T VR T
TR TR ST ] TR SHFST S, T, +dly = 3 3T T o1 qvi P
SEEA FMTe FeUT AT F. SR d, +d, >3 A T e S
W T wgfea
(i) a’ﬁﬁqﬁﬂwc’ilgorithmm.
(i) e ATfEdt W= flowchart FaL.

P.

T.0O.



S e e e e e ot i

PTB 10
Marks
T
(b) Answer any one of the following sub-questions : 10
el RIS WehT TTe 3w 2 ¢
{i)  The following is the percentage break-up of the cost of the construction of a

building in a certain town :

Labour 25%
Bricks 15%
Cement 20%
Steel 15%
Timber 10%
Supervision 15%

SR TRUT BT SIS 9T w0l WSt WO W Wieiie Hifedtd fEete o -

EER 25%

farar 15%

fadz 20%

SIEE 15%

SIET] 10%

TEE ge 15%

Answer the following sub-questions :

(1} Write the two factors which show higher contribution in this
break-up for construction of building cost.
TN TfEdd FIvR G Hes Tatq S =R Sl =1 @ aretavard sreitg
atmea q feran,

(2) If total cost of construction of a building is 10 lakh Rs., then write the
amount of cost that will be incurred for purchasing cement.
T Sehed Sk MU R T T 10 O 79 38 | e wE
fopelt Tl s aren wm ?

(3) If you consider this information for drawing a pie diagram, write the
angle in degrees for cost of supervision.
1 e gery FRedry SEE Gl e A e /et
7 ?

(4) What is the angle in degree at the centre of the pie diagram for total
construction cost ?
T S HES SH FivEM Fatae fE siemen w1 e ?

(5) For drawing pie diagram for this information, write the angle in

degrees you will consider for 1 percent in the data.

JI@ HIEAH 1% 93T ot stoman [ o789a ?

iy,

sy,
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Consider the distribution of number of women according to experience, in
textile mill, marital status and residential status in textile area and
non-textile area of a city.

Textile area Non-Textile area
E N-E Total E N-E Total
Married 247 - 320 49 - 569
Unmarried 154 38 - 16 710 726
Total 401 111 512 - 1230 1295

E = Experienced N-E=Non-experienced.

wrdlel |roia Afee=n fueron wmmE s, dafed o 9 e @ Foe

YT ETa o e 2R,
2FIERY fad sTade wm SIS e FEeten v
HITI | TTHE TN HFW | S| SeE O | S
Tarfew 247 - 320 49 - 569
wdanfesr | 154 38 - 16 710 726
e 401 111 512 - 1230|1295

Answer the following questions :

Weitel g IW o
(1)  Write the total number of unmarried women in textile area.

SRS e STerea T TEvI Safes S wieeT fedl omia 2

(2)  Write the number of non-experienced, married women in the textile

area,

A THel STORIedl I Tq9e Toae Sarfes when frdt and ?
(3)  Write the number of N-E married women in Non-textile area.

e e THCIeA YTTE SR Tered] Sariew e fea aTa 2
(4)  Write the total number of experienced women in non-textile area.
eoerdel el THEEn UTIG SIvE sTaee S e fae
(5)  Write the total number of women considered in this information.

& At SR fordt T e ?

~00o0-
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